RAMSOND’

Digital Inverter Generator
SINEMATE SERIES

SINEMATE 4500

OPERATING INSTRUCTIONS
PLEASE READ THIS MANUAL CAREFULLY
BEFORE USING MACHINE



PREFACE

Thank you for purchasing this Ramsond Sinemate 4500 Generator.

This manual covers operation and maintenance of SINEMATE 4500

All information in this publication is based on the latest preduct information available at
the time of approval for printing. We reserve the right to make changes at any time
without notice and without incurring any obligation. The copyright of this manual belongs
to our company, no part of this publication may be reproduced without written permission.

This manual should be considered a permanent part of the generator and should remain
with it if it is resold.

Pay special attention to statements preceded by the following words:

AWARNING

It indicates a strong possibility of severe personal injury or ceath if instructions are not
followed.

ACAUTION

It indicates a strong possibility of severe personal injury or death if instructions are not
followed.

If a problem should arise, or if you have any questions about the generator, consult an
authorized cealer.

ABE CAREFUL

The generators are designed to give safe and dependable service if operated according
to instructions. Read and understand the Owner's Manual before operating the
generator. Failure to do so could result in personal injury or equipment damage.



| . Safety Instructions

— ¢ The generalor is designed lo give safe and dependable

A LJ ‘ service if operated according to instructions. Read and
: I understand this manual carefully before cperating the
generator, or it may cause senous injury and equipment
damage.

& |  @Exhaust contains poisonous carbon monoxide. Do not

.‘-’ﬁ‘ operate generator in confined area. Be sure to operate the
generator in a well-ventilated environment or with an aerator.
Using a generator indoors will kill you in minutes. Never use
in the home or in a partly enclosed area such &s garages.
Only use outdoors and far from open windows doors and
vents.

R lﬁlﬁ‘l & The muffler becomes very hot during operating and remains

| | hot for a while aller slopping the engine. Be careful not to
touch the muffler while it is hot. Let the engine cool before
storing the generator indoor.

& The engine exhaust system will be heated during operation
and remain hot immediatzly after stopping the engine, To
prevent scalding, pay more attention to the warning marks
attached to the generator

ABe careful

' [T m | Do not paraliel connect other cables to receptacles, use
special jack, or it may cause an electrical shock.




€ Gasoline is extrerrely flammable and is explosive under certain condtions.
Refuel in a ventilated area with engine stopped.

& Keep away from cigarette, smoke and sparks when refueling the generator.
Alwzays refuel in a well-ventilated location

¢ Conneclion lor standby power 0 a building elecliical syslem must be made by a
qualified electrician. The connection must isolate the generator from utility power,
and mus! comply with al applicable laws anc electrical codes. Improper
connections to a building electrical system can allow electrical current from the
generator to backfeed into the utility lines. Such backfeed may electrocute ulility
company workers or others who contact the lines during a power outage, and the
generalor may explode, or cause fires when utility power is restored.

®To z2void accidents and equipment damage, check generation syslem every
lime before starting engne

®Keep the gencralor a distance at least 1 meter from other equipment or other
equipment during operation.

& Keep the gererator horizontal when running. f generator tiled, it may cause fuel
spillage.

& Generator operators must be trained, must know how to stop the generator
quckly and understand the operation of all controllable parts. Untrained
operaturs should n Le allowed 0 use ths equipment

& Keep chidren 2nd pet away from operation ares

®Keep away from rotating parts during operation.

& The genarator is a potential source of electrical shaock when misused. Do not
operate & with web hands or in any wel lccation

& Do rot operate the generator in rain or snow and let it get wet




4.1
4.2
4.3

&1
5.2
53
5.4
a5
56
57
58
59

6.1
6.2
6.3

71
.

a1
9.2
ar

10
11

12

CONTENT

@ SINEMATE 4500

COMPOMNENT IDENTIFICATION..cooiiimccrsssrrissmimssimsamassisnsisassimassatsreriss simsemisnsiansransiassnts 1

SAFETY INSTRUCTIONS 4 B s A 4 A R S SRS R 2

SAFETY LABEL LOCATIONS ...cocisimmnimin e simsssmssmnns s srsassia sss sas ssas s s srmismssasssansimasen s 3

PRE-OPERATION CHECK e i e s e s s e 3
Check the engine cil level. S S S PSS S S SRS 3
RV, WIAE TR I .oty e i i 5
Check the air cleaner.

I I T R . o o m i a oeii  APt fi h  i Btc
Starting the engine ...
High altitischs SDrEIRON ... .. csiis cerms crra s mss s smass ins sismanm esrmemns s sepisnmsmsarssarsnse J

A IR IR iy s i e T A i
Quitput, Overfoad and O alarm IMoiCEI0rT o reermemess s sssarmsssrsaresm s risr siasssssssss 10
DG D TRERIIONEY .o oo e e o e i i o i e 4 8 2 R e B B 8 S S 11
Y IV OO s s i e i s S o o i e s iy i s i 1
Oil alert systam.....
Stopping the engine.

MAINTENANCE .........ccoiiicicissniias

AT BB SEIWICE c.viciuiaismcsssssiasssssnrsss s bsms srmsssasssa e 188 65 4a40sd et soms ks b b S et 18

SR PORIEY RN UORNIIEY o i s i s i i s i s i 18
Fire not of MU S8IVID0 caiiceimim o snisssisssmanmass s st vaanis sarsias seinssn e siansiansses s sass o @0

TRAHSPORTING AND STORAGE ......cccoomimimimsmmmssmnns s srsmsmmm smss san srasss m srmismsimsssas s anss o 1
When transporting generator:......... et e e 22
Before storing the unlt for an extended PEAOG: wuww s s ssisssass 22

TROUEBLESHOOTING g et e e s PV

Wiring diagram......... o i i i I

Exploded parts view i R Ve AR S e PP |

Parts list ..o P S P — 48



DIGITAL INVERTER GENERATOR 3000W

Warning

Read this manual carefully before using the machine, for your own safety.
Your power tool should only be passed on with these instructionsr.

1 COMPONENT IDENTIFICATION

Fuel vsz\'

~" Nstarling grip

Muffler cover

Control panel

DC circuit breaker
Eco throttle switch \ Overload

indicator Iight/

Output indicator light

o G
@ \@) & & &+H— Oil alert indicator light

N~ & q&—Gmunding terminal

L7 |

AC socket DC socket

Engine switch

Panels may be diferant in upgraded models.

Page |1




Smart Throttle

Engne speed is kept at die automatically when the electrical appiance s disconnected and it retums 1o the
proper speed to power of the electrical load when electrical appiiance is connected. This position is
recommended 1o minimize the fuel consumption while in operation,

4 Smart throttle system does not operate effectively, if the electrical appkance requires the momentary
electric power.

4 \When high electncal loads are connected simultaneously, tum the Smart thottle switch to the OFF
position to reduce voltage vibration.

4 In DC operation, fum the Smart throttle switch o the OFF pasttion,

2 SAFETY INSTRUCTIONS

= The generator is designed to give safe and dependable service if operated according to
instructions.

» Read and understand the Owrer's Manual before operating the generator, Failura to do so
could result in personal injury or equipment damage.

= Exhaust gas contains poisonous carbon monoxide. Never run the generator in an enclogsed
area. Be sure to provide adequate ventilation.

= The muffler bacomes very hot during operation and remains hot for a while after stepping
the engine. Be careful not ta tcuch the muffier whila it is hot. Let the engine cool before
storing the generator indoors.

= The engine exhaust system will be heated during cperation and remain hot immediately
after stopping the engine. To prevent scalding, pay attention to the waming marks.

* Gasocline is extremely flammable and explosive under certain conditions. Refuel in a well

ventilated area with the engine stopped.

Keep away fiom cigarelle, smoke and sparks when re-fuelling the generator, Always refuel

n a well ventiated location.

* Wipe up spilled gasoline at once.

Connections for s:andby power to a building's elecirical system must be made by a qualfied

electrician and must comply with all applicable laws and electncal codes. Improper

connections can allow electrical current from the generator to back feed into the utility ines.

Such back feed may electrocute utility company workers or cthers who contact the lines

during & power outage, and when ulility power is restored, the generator may exolode, bum,

or cause fires in the buiding's electrical system,

» Always make a pre-operation inspection before you start the engine. You may prevent an
accidant or equipment damage.

» Place the generator at least 1m (3ft) aweay from buildings or other equipment during
operation.

= Operate the generator on a level surface, If the generator is filed, fuel spillage may result.

= Know how to stop the generator quick'y and understand operation of all the controls. Never
permit anyone 1o operate the generator without proper insiructions.

« Keep children and pets away from the generator when it is in operation.

= Keep away from rotating parts while the generator is running,

» The generator is a potential source of electrical shocks when misused; do not operate with
wet harxds.

* Do not operate the generatar in rain or snow and do not let it get wet.

Page |2



3 SAFETY LABEL LOCATIONS

These labels wam you for patential hazards that can cause serious injury. Read the labels
and safety notes and precautions described in the manual carefully,
If a labal comes off or becomes hard fo read, contact your dealer for a raplacement.

" Avold pen
" bl

~— < EPAlabel

4 PRE-OPERATION CHECK

Be sure to check the generator on a level surface with the engine stopped and the
brake of the wheels be tightened.

Make sure no sundries around the generator, and make the generator insulate from
other buildings or equipment at least 1 metre. Tighten the brake of wheels before start

o r"‘\@
[ l__f____

Pagw |3




4.1 Check the engine oil level.

A Using non-detergent oil or 2-strcke engine oil could shorten the engine’'s
sorvice lifo.

Use high-detergent, pramium quality 4-stroke engine od, certfied to meet or exceed
U.S automabile manufacturer's requirements for API Service Classification SG, SF, (15W40)
Select the appropriate viscosity for the averagje temperature in your area

SAE Viscosity Grades
Single
viscosil
) ) S S
Multi e —
viscosity T —
- R Fa ot
0 2 40 80 W 1007
Ambient Temperature

Louosen the cover screw and remove Lhe lefl side maintenance cover. Remove the oil filler cap,
and wipe the dipstick wilh a dlean rag. Check the oil level by inserting the dipstick in the filler
hole without screwing it in.

If the oil leve! is below the end of the dipstick, refill the recommended oil up 10 the top of the
oil filler neck.

falls below the safe limit. However, to avoid the inconvenience of an
unexpected shutdown, it is still advisable to visually inspect the oil level

regularly.

i The Oil Alert System will automatically stop the engine before the oil level

Upper oil level allowed
Dipstick
\

Oil filler hole

Page |4



—

Level
allowed

4.2 Check the fuel level.

= Tighten the fuel filler cap be‘ore transporting.

= Check the fuel 'evel display carefully, refill fuel to the standard level when the red pointer
point to "E* position.

* Use automotive fuel (Unleaded or low leaded is preferred to minimize combustion chamber
deposits).

= |1 Don't us= fuel containing alcohol: Fuel system damage or engine performance problems
resulting from the use of fuels that contain alcohol are not covered under the warranty.

= Never use an oll/gasoline mixture or dirty gasoline,

= Avoid getting dirt, dust or water in the fuel tank.

= After refuelling, tighten the fuel filler cap securely.

©.

Fuel level display

= Gasoline is extremely flammable and is explosiva under certain conditions.

= Refuel in a well-ventilated area with the engin2 stopped.

= Do not smoke or allow flames or sparks in the area where the engine is refuelled or where
gasoline i slored.

= Do not overfill the fuel tank. Afier refuelling, make sure the tank cap is closed properly and
securely.

* Be careful not to spill fuel when refuelling. Spilled fuel or fuel vapour may ignite, If any fuel
is spiled, make sure the area is cry before starting the engine.

= Avoid repealad or prolonged conlact with skin or breathing of vapour. KEEP OUT OF
REACH OF CHILDREN

4.3  Check the air cleaner.

Check the air cleaner element 10 be sure it is clean and in good condition.

1. Loosen the cover screw and remove the left side maintenance cover.

2. Press the latch tab on the top of the air cleaner body, remove the air cleaner carfridge,
and check the alement.

3. Clean or replace the element if necessary.

Page |5



Access panel

Never run the engine without tha air cleaner. Rapd angine wear will resuit from contaminants,
such as dust and dirt, being drawn through the carburettcr, into the engire.

It is normal for a little oil to appear under the air filter box if the generator s running for a
long period of time, or a lot of oil is in the engine. Wipe up excess oll after each use and
after stopping the generator.

5 GENERATOR USE
5.1 Starting the engine

A Before starting the engine, disconnect any load from the DC receptacle.

Electric starter
1. Turn the fuel valve to the ON position.

2. Put the electric start key into the engine engine switch, and turn it to *ON" posilion.

™
7w

3. Turn the electric start key to "START " position by deasil direction unil the engine hes
stared,

Fage |0



A Careful

The first time to start the engine, or restarl the engine after long time by eleclric starter, if the
engine can be started (Maybe the battery is lack of electric energy), PLS use the recoil
starter to start the engine.

Using recoil starter to start the engine
*. Tum the fuel vaive to "ON" position.

2. Put the electric start key into engine switch, and turn it to "ON" position.

uv) :I

/
Elcerio ctart koy

3. Pull the starting grip | ghtly until resistarce is felt, then pull briskly to start the engine.

FPage |7



4 Be careful

+ Never allow the starter grip to snap back, return it slowly by hand.
# Grasp the carying handie firmly to prevent the ganaralcr from falling over when
pulling the starting grip.

If the engine stops and will not restart, check the engine oil level before
troublezhooting in othar araas.

§.2 High altitude operation

At high altitude, the standsrd carbureticr air-fuel modure will be excassively nch,

Performance will decrease, and fuel consumgiion will increasa,

High altituda parfarmance can be impreved by installing a smallar diamater mair fued jet in the
carburetior and readpesting the slow tempo scrows. If you always operale the gencrator at
gltitudes higher than 1,500 m {5,000 feet) above sea level, have your dealer perform these
carpuretior modifications,

Even with sutable carburettor jelting, angine hossepower ‘will decrease approximataly 3.5%
for each 300m (1,000 feed) increase in altitlvde. The effect of allitude on the horsepower will
be greater than this if no carburettor modification is made,

for may result in reduced performance, overheating, and serious enging

Operation of the generator at an altitude lower than the carburator 18 jetted
A damage caused by an excessively lean airffuel mixture.




5.3 Generalor use

5.3.1  Warning!

* To prevent electrical shock from faulty appliancas, the generator should be grounded.
Connect an electric conductor (cable) of al least 1,5mm? tetween the generator’s ground
terminal and an external ground source.

* Connections for standby power to a building's electrical system must be made by a qualified
electrician and must comply with all appiicable laws and electrical codes. impreper
connections can allow electrical current from the generator to back feed into the utility ines.
Such bazk leed may electrocute ulility company workers or others who contact the Ines
during a power outage, and when utility power is restored, the generator may explode, burr,
or cause fires in the building’s electrical system,

* Limit operation raquiring maximum pewer to 30 minutes. For continuous operation, do not
exceed the rated power. In either case, the total wattage of all appliances connected must
be considered.

* Do not exceed the current limit specified for any one receptacie.

* Do not connect the generator 10 a household circuit. This could cause the damage to the
generator or to electrical appliances in the house.

* Do not modiy or use the generator tor cther purpese than it is intended for. Also observe
the following when using the generator.

- Do not connect generators in parallel.

- Do not connect an extension to exhaust ppe.

* When an extension cable is required, be sure to use a rubber sheathed flexible cable.

* Limit length of extension cables: 60m for cables of 2 mm’ and 100m for catles of 4mn’,

* Keep the generztor away from other electric cables or wires such as distribution network.

* The DC receptacie can be usad while the AC power is in use. If you us2 both at the same
time, be sure not 10 exceed the ‘otal power fcr AC and DC.

* Most appliance motors require more than their rated wattage for start-up.

54 AC applications
1. Start the engine and make sure the output indicator light (green) lluminates.
2. Confirm that the appliance to be used is switched off, and plug in the applance.

Overload indicater  Output indicatar
fight (red) light (green)

i SR
- n-(q)i I . no@ .

Do,

« Substantial overicading that continuously lights the overload indicator light (red) may
damage the generator. Marginal overioading that temporarily lights the overload indicator
light (rec) may shorten the service life of the generator.

= Be sure that all apphances are in good working order before connecting them to the
generator. If an apphance begins to operale abnormally, becomes sluggish, or stops
suddenly, turn off the generator engine switch immedialely. Then disconnect the applianca,
and examine It for signs of malfunction.

Page |9



5.5 Output, Overioad and oil alarm indicator.

~ The outpul indicator ight (green) will remain lighted during normal cperatng conditions.

- If the ganarator is overloaded or if there is a short in the connected appliance, the output
indicator light (green) will go OFF, the cverload indicator ight (red) will gc ON and current
fo the connected appliance will be shut off.

- Stop the engine if the averload indicator light (rad) switches ON and investigata the
overioad source.

- Stop the engine if the oi alarm indicator light (red), PLS check the oil leval, refill oil or not.
Before connecting an appliance to the generator, check that it is in good
order, and that Its electrical rating does not exceed that of the generator,
Then connect the power cord of the appliance, and start the engine.

Be sure all equipment Is turned off before plugging in the power cord.

Overload indicator (<.d) Output indicator (green)
/

~
Qil alarm indicator

- When an electric molor is started, both the overload indicater light (red) and the output
indicator light (green) may go on simultaneously. Ths is normal if the overload indicator
light (red) goes off after about four seconds.

- If the overibad indicator light (red) stays on, consult your dealer

1. Connect the ground terminal

2. Start engine according to "STARTING THE ENGINE",

Page |10



When the output indicator light (green) does not light and the overlcad
A indicator light (red) lights instead, set the engine switch to STOP, stop the
engine at once and then start the engine again,
3. Confirm that the equipment to te used is switched off, and insert the plug of the equipment
to be used into the AC receptacle unit A.

Check that the equipment to be connected is switch off. When the equipment
A to be used is switched on, it will operate suddenly, and injuries or accidents
may be caused.
4. Switch on the equipment output indicator light will glitter (light). In case of overioad
operation or when trouble occurs for the equipment being used, the output indicator light
(graen) will go cut, the overlcad indicator light (red) will light continuously, and nc power will
be put cut. At this ime, the engne will not stop, 5o that the engina must be stopped by satting
the respective engine switch to STOP,

. Normal: utout
| emesetod
o ® gD
B)eo. ).
\ \

When equipment requires a large starting power, the overload indicator lights
(red) and the output indicator light (green) may light together for a short time,
but this is no abnormality. After start of the equipment, the overload indicator
light {red) will go out and the output indicator light (green) will stay lit.

5.6 DC applications
For charging 12V automotive batteries:
Idling voltage (V)  Loading voltage (V)  Loading current (A)

Closing the smart
throttl 27 13 8.5

The generator cannot sense a sensibility load with the same power which the manual
indicates. It only can sense 40%-70% power which the manual indicates.

Page '11



= When using the DC output, tum Smart Throtile to the OFF position. The DC current will be
below 5A if tumning on tha Smart Throttle without AC current output.

* When charging batteres, person must be present tc monitor the veltage. Stop charging
when the voltzege of the batteries is above 16V. Or it may cause baltery explesion, resulting
in serious injury or death.

= To prevent the possiblity of crealing a spark near the baltery, connec! charging cable
first (o the generator, then 10 the battery, Disconnact cable first at the dattery.

=  Befcre connecting charging cabies te a battery that is installed in a vehicie, disconnect
the vehicles grounded battery cable. Reccnnect the vehicle's grounded battery cable
after the charging cables are removed. This procedure wil prevent the possibility of a
short crcuit and sparks It you make accioental contact between a tattery terminal and
the vehicie's frame or body.

* Do not attempt to s'ar! an automobile engine while the generator still connected to the
battery. The generator may ba camaged.

= Connect the positive battery terminal to the positive charging cord. Do not re-verse the
charging cables, or serious damage o the generator and‘or the battery may occur,

* The battery gives olf explosive gases; keep spark, flames and cijareties away. Provide
adequate ventilation when charging.

* The battery contains sulphuric acid (electrolyte). Contact with skin or eyes may cause
severe bums. Wear protective clothing and a face shield.

- If electrolyte gets on your skin, flush with water.
— If electrolyte gets in your eyes, flush with water for at least 15 minutes and call a

physician.

= Elecirolyte is poisonous.
If swallowed, drink large quantitics of water or milk and follow with milk or megnesia or

vegetable oil and czll a physician.
* KEEP OUT OF THE REACH OF CHILDREN, PETS AND UNTRAINED PEOPLE.

Page |12



5.7 Startthoe engine

= The DC receptacle may be used while tha AC power 13 in use,

= Anovercaded DC circuit will trip the DC circuit protector. If this happens, disboard the
DC load betore pushing in the circuit protecior to resume operator:.

DC circuit breaker

58 Oil alert system

= The oil alert system is designed to prevent engine damage caused by an insufficient
ameunt of ¢il in the crankcase. Before the cil lavel in the crankcase falls below a safe
limit, the oil alert system will automatically shut down the engine (the engire switch will
remain in the ON position).

= | the oil alert system shuts cown the engine, the oll alert indicator light (red) will come on
when you pperate the starter, and the angine will not run. If this nceurs, add enging oil

Oil alarm indicator (red)

\
" o e e

5.9 Stopping the engine

To siop the engine in an amergency, turn the engine switch to the OFF pcsition.
In normal use:
1. Switch off the connected equipment and pull the insartad plug out.

Page |13



2. Turn the electnc start key to the OF T position, and fake out the key.

Electric start key

3. Turn the fuel valve to the "OFF" position.

Be sure tighten the fuel cap and the engine switch is in "OFF" position
when stopping, transporting and/or storing the generator.

Page |14



Fuel cap

MAINTENANCE
Tha purpose of the maintanance and adjustment schadule B 1o keap the genarator in the

bast aperating condition.
Inspect 0° service as scheduled in the tahlke balow.

Shiut off the engine before parferming any maintenanca. If the engine must be
A run, make sure the area is well ventilated, The exhaust contains poisonous
carbon monoxide gas.

Ugse authorized parts or thelr equivalent. The use of replacement parts which
are not of equivalent quality may damage the generator.

Fage |15



Maintenance Schedule

REGULAR SERVICE
PERIOD(1)
FIRST EVERY 3 EVERY 6 EVERY
ITE EA
Mrmu - aod Us? MONTH OR | MONTHS MONTHS YEAROR
” 20HRS OR 50HRS OR 100 HRS | 200 HRS

month or operating hour
interval, whichevar comes
first.
Engme oil ool 1@

Change [ ] @
A Check ®

Clean 92
Sparkplig | o

adpst
Spark
Aroesion R
Valve Check

o)

Clearance adust
Fusl tank
e Clean o3
Fual ine Check Every 2 years (Replaca if necessary) (2)
NOTE:

(1) Log heurs of operation 1o determine proper maintenance.

(2) Service more frequently when used in dusty areas.

(3) These iterns should be serviced by an authorized dealer, unless the owner has the proper
tools and is machanically proficient, See the Shop Manual,

Temporature (€%  Timeforchanging oil (how) ~ Recomme
s Normal
ST TR e [ e —
5 15 865%
et ——u g h———IWe————

6.1 Changing oil
Drain the oil while the engina is still warm to assure rapid and complete draining.

A Make sure to turn the engine switch and the fuel cap vent lever OFF before
draining.

1. Remove the screws and open the access panel.
2. Take out the battery,
3. Remove the jetting oil bolt, and spill out the oil.

Page |16



Engine oil capacity: 1.0L

]

ey Remove the
jetting oil bolts

Retill ol

1. Remove the screws and opan the access panel.

2. Revolve out the dipstick.

3. Revolve the il filing pipe into the il filler hole.

4, Use the ol filling bottie pour the oil into the crankcase and check the oil level,

O N

/ Oil filling pipe
Oil filling bottle

After refill the new oil into the crank case, PLS shake the genarator left o right some times
and make sure the bobber of the il alarm system is floating.

Paoge |17



Fill port

Wash your hands with soap and water after handing used oll,

Please dispose of used motor oil in a manner that is compatible with the
environment. We suggest you take it in a sealed container to your local
service station for reclamation. Do not throw it in the trash or pour it on the
ground.

6.2 Air cleaner service

A dirty air cleaner will restrict air flow to the carburettor, To prevent carburettor malfunction,
service the air cleaner regularly, Service more frequenty when cperating the generator in
axtremely dirty areas.

Do not use gasoline or low flash point solvents for cleaning. They are
flammable and explosive under certain conditions.

Loosen the access panel screw and remove the accass panel.

Remove the 4 screws under the air filter case.

Pull the air filter cartridge down 30mm and remove the air filter cartridge.
Remove the air fiter iron clip and chack the air filter element. Clean or replace the
element if necessary.

Reirstall the air fiter parts after cleaning or replacing air filter element

I N

Access panel

6.3 Spark plug servicing

Please use high quality authentic spark plugngk).

To ensure proper engine operation, the spark p'ug must bz propery gapped and free of
deposits,

Page |18



1. Remove the screws cn top maintenance cover and the cover.

2. Take out the ignition coil rubber boot.

Ignition coil rubber boot

3. Remove the spark plug with spark plug wrench.

%\K //Spukplugvmnchl

/

—

B

Insert the screwdriver into the hole of the spark
plug wrench and remover the spark plug.

‘k
.

&

rd

p

/ 9

s

Spark plug wrench

Ignition coil rubber boot

Page |19




4. Visually inspect the spark plug. Discard it if the insulator is cracked or chipped, Clean
spark plug with a wire brush if it is to be reused.

0.60.Tmm

Gﬁ (0. @4-0, 281

Install the spark plug carefully by hand, to avoid cross-threading.
After a new spark plug has been seated by hand, it should be tightened ' tum with a
wrerch to compress its washer. If a used plug is being reinstalled, it should only require %
to ¥ turng after being sealed.
Reinstzll the ignition ccil rubber boo! on the spark plug securely.
Reinstall the controling panel.

* The spark plug must be securely tightened. An improperly tightened plug

can become vory hot and possibly damage the generator,

A * Never use a spark plug with an improper heat range.

* Neover use a spark plug wihtout damping resistance, or it will cause no AC
output,

* output.
Fire net of muffler service

Uncleaned muffler will make big noise and affect the engine’s running.

X

&~

Clean and maintenzance the fire net limely, make sure the generator works normally.
The fire net of muffler needs cleaning frequently if you use the generator in very dirty

conditions, or replaca the fire net if necessary

& Before clean the fire net of muffler make sure the generator stop working.

& Before check and maintenance the fire net of muffler, make sure the machine is

cooling, otherwise, it will cause scald by the hot muffler.

Page |20



-

. Remove the M6 screws and open the muffler cover.
. Remove two M4 screws on the fire net.

. Take down the fire net as par the following figure.

. Check the fire net, clean cor replace it if necessary.

| @

7

To prevent fuel spillage when transporting or during temporary storage, the generator

TRANSPORTING AND STORAGE

stould be secured upright in its normal operating position, with the engine switch OFF,
The fuel cap vent lever is tumed counter clockwise to the OFF position.
Allow the engine to cool well before turning the fuel cap vent lever 1o the OFF position.

7.1 When transporting generator:

Do not overfill the tank. (there should be no fuel In the filler neck)

Do not operate the generator while it is on a vehicle, Take the generator off the vehicle
and use it in a well ventilated place.

Avoid a place exposed to direct sunlight when putling the generator on a vehicle, If the
generator is Iaft in an enclosed vehicle for many hours, high temperature insde the
vehice could cause fuel lo vaporize resulting in a possible explosion.

Do not drive on a rough road for an extended period with the generalor on board, If you
must transport the generator on board. If you must transport the generator on a rough
road, drain the fuel from the generator beforehand.

Page |21




7.2  Before storing the unit for an extended period:
1. Be sure the storage area is free of excessive humidily and dust.
2. Drain the fuel.
A Gasoline is extremely flammable and explosive under certain conditions.
Do not smoke or allow flamaes or sparks in the area.

3. Completely drain the fuel from the tank. Open the fuel valve, start the engine and operate
It in the idle position until all remalning fuel Is gone and the engine stops automatically.

Gasoline
pot

4 Discharge oil,

5 Remove spark plug and fill cylinder with 2¢c’s fresh oil. Pull start motor 3-4 tmes to
discharge the remaining oil. Then reinstall the spark plug.

6. Pull the starting cord slowly until resistance is strong. At this time, the giston is moving to
the top of the cempression stroke and the valves will be closed.

Pago |22



8 TROUBLESHOOTING

Engine will not start:

Enough fuel? No - Add fuel.

Yes

r
Are the engi"euswjld‘ No | Tum them to the “on"
and fuel valve “on"? " | position.

lYos

Enough lubricating No _ | Add more qualified
oil? | oil.

Yes
Is there fuel in the No _ | Start a few times to
carburetor? * | ensure that fuel

enters the

Yes carburetor.
Spark plug No Replace Send the generator {0
works or not? spark plug. an authorized dealer

=  Shake the generator several imes to make the fioat rise if the generator cannot start
after adding oil for the first time and the oil alarm indicator stays on when pulling the

stanting grip.

*  Make sure there is no spilad fuel around the spark piug. Spilled fuel may ignite.
If the engine still doesn't starl, have the generator repaired by a licensed repair person,

Inspaction:

1. Remove the spark plug rubber boot and clean any dirt from around the spark plug.
2. Remove the spark plug and pace il in the spark plug rubber bootl.

3. Connect the side electrode of the spark plug % the metal parts of the engine.

4. Pul the sta‘ling cord. A spark could jump across (he gap.

{ — )
yame
a
] .
° =
b =7
Spark plug  Igvtion col
rubber foot

Page |23



* Tha aquipment that connects genarator doesn't start:

Is the output indicator on?

No

W

Is the overload indicator
on?

No

Yes

Send the generator to an
authorized dealer.

Does the electrical
equipmeant wark whan
plugged in directly?

No

Restart after turning off the
overload indicator.

Yes

Yes

Send the generator o an
authorized dealer.

L

1) Replace the electric
equipment,

2) Repair the electric
equipment,

* There is no power in the DC electric outlet:

I the electric circuit
hreaker intact?

No
——

Replace the electric circuit
hreakes.

Yes

L J

* Deficient AC output

Deficient autput

l

Check air filter

Send the generator lo an
authorized dealer,

Dirty

Clean or replace air filter

.

Check fire net of

Dirty

clement

misiMer

.

Check the gasoling is bad

‘fas

v

Clean or replace fire net

Replace gasoline

!

Feturn the genecater to an authorized deaer

Fage |24




9. Specification

81 Size and weight

ltem SINEMATE 4500
Lx W x H (mm) B00x450x500
Mat weight 120 LBS
82 Engine
Item SINEMATE 4500
Muodel 185F
Typea 4-stroke, OHY, 1-cylinder
Displacement 269CC
Comprassion ratio 9.2
Engine speed 2200-3800rpm
Caooling system Forced air cooling
Ignition system T.0
OQil capacity 1.0L
Fuel tank capacity 14L
Spark plug NGK
Maise level (4m) 59db

93 Generator

Generator Model No.
e oAl SINEMATE 4500
Rated voltage [V) 120
Rated frequency (HZ) B0
AC output Rated current (A) 2
Rated cutput (K\va) an
Maximum output (K\MA) R
DC output Rated voltage V) 12
(For 12V
autnmoiha Rated current (A) 83
batteries only)

Page |25




RAMSOND

LIMITED WARRANTY

Applicable Products: RAMSOND SINEMATE 1000, 1500, 2500, 3500, and 4500 GASOLINE INVERTER GENERATORS.

Ramsond Conporation warrant the above referenced product, o the original purchaser of the above new equipment, to be free
from defect or workmanship for a period of 1 year from the date of purchase, subject to the limitations comtained herein. In the
event of product failure or malfunciion, return the product in person or by couner to:

You must include fhe following io receive waranty senice;
»  Proof of purchase.
Deetaied descrpbon of the fault or problem
\isikle Seral Number of the: unit
$35 Handling fiee: [check, money order)
*  Retum Shipping Label (prepaid) for rebuming fo you the repairedireplaced product.

The faulty/defective product will them be repaired or replaced (at owr opfion). The repairedireplaced componentiproduct shall then
ke returned fo the purchaser. The purchaser shall ke responsible for all shipping and handing costs of sending the
defectiveifaulty item to us, a5 well as all shipping and handling costs of refuming the repairedireplaced to the cusiomes. Any
importiexport costs associated with shipping of repaired product outside the Unibed Siates, such as krokerage fees, fmxes,
customs or duties are the responsibiity of the customer. Cartain tems which are subject o normal wear and tear are specifically
excluded from this warranty (e.g. spark plug, and fiters). Please allow up to 30 days from date that we receive the unit for
repairreplacement. In the event that we are not able o repair the product, we will replace the product with same or similar unit.
In the event that the model is mot avaiable, we will replace the machine with an exisfng model with same or better
characheristics, funciionality and quality. We reserve the right to replace a defeciive unit with an identical refurbished unit that
has been sukbjected to testing, which will similady ke warranted against defect or workmanship. Faully installation, operation or
mainkerance of the product or attempled repair and maintenance by persons not expressly certified by Ramsond shall render the
limited warranty void. Damage resulfng from failure to use fhe product in @ manner consistert with our recommendations shall
render the limited warranty void. This limited warrarly specifically excludes any consequential and'or ncidental damages.
Although we may provide techrical assistance via ielephone or email to the customer, it is virually impossible to froubleshoot all
mathers via telephone or remole assistance. As such, the offering by us of any technical assistance is made without any warranty
or guarantee and provided on “as is” basis. It is the responsikility of each purchaser o debermine whether any particular product
is compliant with and permissikle for use pursuant to the applicable rules, codes andlor regulations, i any, and suitable for
parfcular wse and operation. We make no representations or warranbes whatsoever concerning the suitability of any
mearchandise for 3 particular use or pupose and ary such warranty is expressly exduded from the terms of this limited warranty.
We reserve the rght to make slight modificafions necessary to the merchandise for product improvement. This imited warranty
shal be subject the laws of the State of Mickigan and ary claiming arising therefrom shall be inferpreted in accordance to the
laws of the State of Michigan and subject to the exclusive jurisdiction of the Cowrts of State of Michigan.



WIRING DIAGRAM

Page | 26



EXPLODED PARTS VIEW

Page |27




PARTS LIST

Item No. Name Item No. Name

1. |Engine Assembl 50. |Top Cover

2. IE%HU'EBT! L 51, uspx 12 Bolt

3. |lgnition Coil 52. |Fuel Tank Sleeve

4. |Stator Assembly 53. |Fuel Cap

5. |MG X 25 Bolt 54, |Fuel Level Display Cover board
6. [M6 X50 Inner 6 Cornus Bolt 55. |Fuel Level Display Sleeve
7. |Rotor Assembly 56. |Handle

8. |Flywheel Fan 57. |Sheetliron Clip

9. tarter Cup 58, |Connection Pipe, Fuel Tank
10. |M6 X 20 Boit 58. |Ma.2 X 10 Self- tapping Screw
11. |Motor Wind Cover 60. |Upper Fan Cover

12. |M6 X 18 Bolt 61. |[Nether Fan Cover

13. |Recoil Starter Assembly 62. |M8 X 15 Bolt

14, (M6 X 10 Bolt 63. |Engine Bracket

__15._|Carburetor Gasket, Plastic _ | 64 [M10X 30 Bolt
16. |Connection Pipe for Carburetor 65. |Absorber
Gasket, Plastic 6€. |Rear Cover

17. |Backpressure Valve 67. |M6 X 12 Plate Screw

18. |Connection Pipe for Choke 68. |Handle stopple

19. |[Steel Wire Clip 69. [M6 X 12 Bolt

20. |Carburator 70. |Handle Sponge Sleeve
21. |M3 X 8 Obtuse Screw 71. |M6 X 12 Bolt

22. |Step Motor 72. |Exhaust Cover

23. M5 X 8 Plate Screw 73. |M6 X 12 Bolt

24, |Step Motor, Base 74. |Rear Housing

25. |Choke Frame 75. |M6 X 12 Plate Screw
26. |Breath Pipe 76. |Battery

27. |Air Cleaner Cartridge 77. |Lift Side Board
28. |Air Cleaner Element 78. |M6&X 12 Bolt

29. [Air Cleaner Case 79. |Maintenance Cover

30. |[Air Cleaner Cover 80. |M6 X 12 Big Head Bolt

31. |M4. 2 X 12 Self-tapping Screw 81. [Common Wheels

32. Surthg Motor 82. |Wheels with Brake

33. |Muffler Bent Tube 83. |Underpan

34, |Muffler Cover 84. |Carburetor Connection Pipe
35. |Muffler Cover Frame, Firmed Frame 85. |Fuel Valve

36. |M6 X 12 Bolt 86. |M6 X 12 Plate Screw

37. |Fan 87. |Front Housing

38. |M10 X 20 Bolt 88. |M6& X 12 Bolt

39. |Muffler Assembly 89. |Control Panel Assembly
40. |[M8 X 165 Bolt 90. |M4.2 X 10 Seif- tapping Screw
41. |M8 X 85 Bolt 91. |Fuel Valve Knob

42, [Clip 92. |Handle Sponge Sleeve
43. | Fire Net 93. |Front Cover

44. |Mufflar Cover 94. |M6 X 12 Plate Screw

45. |M6 X 16 Plate Screw 95, |Handle stopple

46. |M6 X 12 Bolt 96€. |Inverter Assembly

47. |Frame 97. |Inverter Bracket

48. |Fuel Tank 98. |Inductance

49. |M6 X 12 Bolt 99. |Right Side Board

Page |28




RAMSOND

LIMITED WARRANTY

Applicable Products: RAMSOND SINEMATE 1000, 1500, 2500, 3500, and 4500 GASOLINE INVERTER GENERATORS.

Ramsond Conporation warrant the above referenced product, o the original purchaser of the above new equipment, to be free
from defect or workmanship for a period of 1 year from the date of purchase, subject to the limitations comtained herein. In the
event of product failure or malfunciion, return the product in person or by couner to:

You must include fhe following io receive waranty senice;
»  Proof of purchase.
Deetaied descrpbon of the fault or problem
\isikle Seral Number of the: unit
$35 Handling fiee: [check, money order)
*  Retum Shipping Label (prepaid) for rebuming fo you the repairedireplaced product.

The faulty/defective product will them be repaired or replaced (at owr opfion). The repairedireplaced componentiproduct shall then
ke returned fo the purchaser. The purchaser shall ke responsible for all shipping and handing costs of sending the
defectiveifaulty item to us, a5 well as all shipping and handling costs of refuming the repairedireplaced to the cusiomes. Any
importiexport costs associated with shipping of repaired product outside the Unibed Siates, such as krokerage fees, fmxes,
customs or duties are the responsibiity of the customer. Cartain tems which are subject o normal wear and tear are specifically
excluded from this warranty (e.g. spark plug, and fiters). Please allow up to 30 days from date that we receive the unit for
repairreplacement. In the event that we are not able o repair the product, we will replace the product with same or similar unit.
In the event that the model is mot avaiable, we will replace the machine with an exisfng model with same or better
characheristics, funciionality and quality. We reserve the right to replace a defeciive unit with an identical refurbished unit that
has been sukbjected to testing, which will similady ke warranted against defect or workmanship. Faully installation, operation or
mainkerance of the product or attempled repair and maintenance by persons not expressly certified by Ramsond shall render the
limited warranty void. Damage resulfng from failure to use fhe product in @ manner consistert with our recommendations shall
render the limited warranty void. This limited warrarly specifically excludes any consequential and'or ncidental damages.
Although we may provide techrical assistance via ielephone or email to the customer, it is virually impossible to froubleshoot all
mathers via telephone or remole assistance. As such, the offering by us of any technical assistance is made without any warranty
or guarantee and provided on “as is” basis. It is the responsikility of each purchaser o debermine whether any particular product
is compliant with and permissikle for use pursuant to the applicable rules, codes andlor regulations, i any, and suitable for
parfcular wse and operation. We make no representations or warranbes whatsoever concerning the suitability of any
mearchandise for 3 particular use or pupose and ary such warranty is expressly exduded from the terms of this limited warranty.
We reserve the rght to make slight modificafions necessary to the merchandise for product improvement. This imited warranty
shal be subject the laws of the State of Mickigan and ary claiming arising therefrom shall be inferpreted in accordance to the
laws of the State of Michigan and subject to the exclusive jurisdiction of the Cowrts of State of Michigan.



